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QUESTION 1

Elastic computing is important to businesses as it relates to which of the following cloud characteristics?
A. Scalability

B. Security

C. Integrity

D. Distribution

Correct Answer: C

QUESTION 2

Which of the following is the logical progression in internal private cloud adoption?
A. Virtualize, Paas, laaS, and SaaS

B. SaaS, PaaS, laaS, and Virtualize

C. Virtualize, laaS, PaaS, and SaaS

D. laaS, PaaS, Virtualize, and SaaS

Correct Answer: C

Reference: http://www.slideshare.net/JenniferRomanoBergstrom/introduction-to-web-survey-usabilitydesign-and-
testing?next_slideshow=1

QUESTION 3

Which of the following technologies are related to Web services?
A. HTML, IDM, JSON

B. HTML, IDM, XML

C. HTML, JSON, XML

D. DM, JSON, XML

Correct Answer: C

QUESTION 4

Which of the following applications would be a good candidate to move to a cloud-based platform?
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A. Mission critical financial data

B. Customer Relationship Management (CRM)

C. High-performance computing

D. Database that requires a low latency for indexing

Correct Answer: B

QUESTION 5

Which of the following confidentiality risks is introduced by cloud computing?
A. Company information can be transmitted electronically

B. Digitizing information makes it easier to copy

C. Government regulations require data to be disclosed

D. Having files stored on the servers of a cloud provider

Correct Answer: D

QUESTION 6

Why is it important to know the physical location for a governmental cloud based storage solution?
A. Data stored in other countries could be accessed by the local government

B. Data stored in other countries could slow down application response

C. Data stored in other countries could impact access latency

D. Data stored in other countries could reduce revenue for the originating country

Correct Answer: A

QUESTION 7

Which of the following is an essential step in the start-up process of a virtual server?
A. Identify the location of the physical machine

B. Select identity providers

C. Select security credentials

D. Select the application set that will run on it

Correct Answer: C
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QUESTION 8

A cloud subscriber may come under certain security constraints when hosting sensitive data in the cloud due to
government regulations. Which of the following is the BEST mitigating control that could be implemented by the cloud
provider?

A. Offer multi-tenancy software as a service with segregated physical infrastructure.

B. Offer a single-tenancy software service with segregated virtualized infrastructure.

C. Offer multi-tenancy software as a service with logically segregated infrastructure.

D. Offer a single-tenancy software service with monitored intrusion detection systems.

Correct Answer: B

QUESTION 9

Which of the following is an important skill for an organization wanting to adopt an laaS strategy?
A. Visualization technology

B. Application service procurement

C. Customer relations

D. Security and risk management

Correct Answer: A

QUESTION 10

How does scalability work with cloud computing?
A. Servers and storage can be added quickly.

B. Servers and storage can be released quickly.
C. Users can be added and removed quickly.

D. All of the above is correct.

Correct Answer: D

QUESTION 11
Why do business users prefer to deal with cloud providers directly, instead of via the IT department?

A. It reduces financial risks to the business
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B. The IT department does not accommodate variable costs
C. They can better measure the provider\\'s quality
D. They can use their own payment options

Correct Answer: B

QUESTION 12

Which of the following is an example of an early cloud adoption?
A. Data center

B. Virtualization

C. Video streaming

D. Web email

Correct Answer: D

QUESTION 13

A university has migrated several services from their internal infrastructure to a third-party cloud provider. Which of the
following is MOST important to the university in order to ensure an appropriate security posture?

A. Regular patching applied by the university

B. Governance and oversight by the cloud provider
C. Antivirus checks performed by the cloud provider
D. SLA and metrics requested by the cloud provider

Correct Answer: B

QUESTION 14

Which of the following would be considered in a private cloud?
A. Organizational direct attached storage

B. Organizational SAN

C. Vendor leased co-hosted storage

D. Encrypted shared drive

Correct Answer: B
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QUESTION 15

Cloud computing has the greatest benefit for which of the following user populations?
A. User populations which steadily increase in size.

B. User populations that vary and are unpredictable.

C. User populations that are of fixed size.

D. User populations that vary in size on a seasonal basis.

Correct Answer: B
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